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Three Phase controlled Rectifier
1- the controlled three - pulse Mid
— point circuit M3C

2- the controlled six - pulse Bridge
Circuit B6C
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Three-phase Half-wave
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Output Voltage a=30
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Output Voltage
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Output Voltage @=120
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1. 3® half wave controlled rectifier, with R load @=30°
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Triggering angle, a=30°

wt = 60° to 180° , T1conduct

wt = 180° to 300° , 2 conduct

wt = 300° to 420° , T3 conduct Vo




1. 3O half wave controILed rectifier 0° < a < 30°
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Triggering angle, 0 < a < 30

wt = 30°+ a to 150° + a, T1 conduct
wt = 150° 4+ a to 270° 4+ a, T2 conduct
wt = 270° + a to 390° + a, T3 conduct
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Output voltage and output current

RL load
The average output voltage
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Supply and Thyristor Current

RL load
Output power and Power factor

The average supply/Thyristor current
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Output Voltage
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Output Voltage a=120
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Output Voltage
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Output voltage and output current

R load

The average output current
ge otlp The rms output current
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Supply and Thyristor Current
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The average supply/ Thyristor current
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Output power and Power factor
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